AP Calculus AB Name: Aﬂsmef K&\\j*

Unit 7 — Day 3 — Assignment

APZ CALCULUS AB ' 2001 Question 6

The funetion fiz differentiable for all real numbers. The point [ ?,E) iz on the graph of

. L d; 5 :
¥ = flz), and the slope at each point {x,¥) on the graph e given by é = 7 (6 — 22},
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(a) Find — and evaluate it at the point 3,—)_
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(by Find ¥ = fiz} by solving the differential equation dTg = 2 (6~ 2¢) with the initial

condition f(3) =
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AP® CALCULUS AB 2002 (Form B) Question 5

i i . oody 3z
Consider the differential equation f— = ,
' i i
{a) Let p = f{z) be the particular solution to the given differential equation for 1 < » « =
such that th(@ﬂ y = —2 Is tangent o the graph of DFimd the scoordinate of the point of

bangeney, aud determine whether fhas a local maximum, local minimum, or neither at s

poind. Justify vour answer,
(b} Let y = glw) be the particular solution to the given differential equation for —2 < ¢ < 8.

with the initial condition g(6) = ~4. Find y == g2},
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